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I. Multiply the given numbers by the number in the centre of the circle to   

   get the outer numbers. 
                                 

 

 

 

 

 

 

 

II. Complete the following table by multiplying the numbers by 8. 

Input 8 6 9 4 7 3 5 10 1 

Output          

 

III. Fill in the blanks with the correct answer.                                                                                       

a. ______________X 250 = 0                                 f.  4090 X ____________ = 4090 

b. 874 X ___________ = 874                                 g.  3215 X _____________ = 0 

c. ____________ X 9 = 63                                     h.  78 X ______________ = 7800 

d. 6 X 40 = _____________________                     i.   54 X 3 X 0 = ___________ 

e. 7 X 100 = ____________________                     j.   956 X ______________ = 9560 
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Write the answer to each multiplication problem. Then colour according to the 

key given at the bottom. 
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I. Read the questions carefully and choose the correct answer. 

a) 9 + 9 + 9 + 9 + 9 + 9 + 9 is the same as ____________. 

    (i) 9 + 7                 (ii) 7 x 9                 (iii) 9 × 9               (iv) 6 x 9  

 

b) If 7 × 8 = 56, then 70 × 8 = ___________ 

     (i) 5600                 (ii) 506                   (iii) 560                  (iv) 56 

 

c) How many spider legs are there in all? 

 

      

     (i) 2 × 4                 (ii) 2 × 6                 (iii) 4 × 8              (iv) 2 × 8 

 

 d)  4 × 7                 8 × 3 

    (i) >                     (ii) <                      (iii) =                   (iv) None of these 

  

e) There are 105 apples in a carton. How many apples are there in 4 such    
     cartons? 

       (i) 400                  (ii) 402                   (iii) 420                 (iv) 109 
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II. Multiply:     

a)             Th     H     T    O 

                   1      0    7 

   X                            8           

      
     ___________________________ 

 b)            Th    H     T    O 

                   4     7    3 

    X                          6           

 
 ___________________________ 

c)             Th     H     T    O 

                    1     2    5 

    X                           7 

d)             Th     H     T    O 

                   1      3    6 

    X                           5          

e)             Th    H     T    O 

                   3     4    0 

    X                          9 

f)             Th     H     T    O 

                   8     5    1 

    X                          4 

      

III. Solve the following word problem.                                                            

1. Teacher asked her class to solve a few sums every day during the summer 
break. Sam solved 5 sums each day. How many sums did he solve in the 
month of July? 

 

_________________________________________________________________ 

_________________________________________________________________ 

_________________________________________________________________ 

_________________________________________________________________ 

_________________________________________________________________ 

_________________________________________________________________ 

Ans: ________________________________________ 
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